
Jun 2017

Whilst every effort has been made to ensure the accuracy of the information supplied. F.H.Brundle cannot be held responsible for any errors or omissions.  
This product must only be employed for its original intended use. Any other use is wrong and potentially dangerous. Installation must be carried out in full 
compliance with current regulations. F.H.Brundle cannot be held liable for any damages resulting from wrongful, erroneous or negligent use.

BRUNDLE

www.fhbrundle.co.ukTel. 01708 25 35 45 sales@brundle.com

CHAIN LINK

Jun 2017

900mm HIGH FENCE

1200 & 1800mm HIGH FENCE

1200 & 1800mm HIGH FENCE

W

W

W

W

W

W

W

W

W

W

W

W

W

W

W

W

W

W

W

W

W

W

W

W

W

W

W

MID POST
No fixings

MID POST
No fixings

MID POST
No fixings

END POST
1 x Strut
2 x Winders
1 x Stretcher bar
2 x M8 x 40 bolts
1 x M8 x 25 bolts
5 x M8 bolts

END POST
1 x Strut
3 x Winders
1 x Stretcher bar
3 x M8 x 40 bolts
1 x M8 x 25 bolts
7 x M8 bolts

END POST
1 x Strut
1 x Brace
4 x Winders
1 x Stretcher bar
4 x M8 x 40 bolts
3 x M8 x 25 bolts
11 x M8 bolts

CORNER POST
2 x Strut
4 x Winders
2 x Stretcher bar
4 x M8 x 40 bolts
2 x M8 x 25 bolts
10 x M8 bolts

CORNER POST
2 x Strut
6 x Winders
2 x Stretcher bar
6 x M8 x 40 bolts
2 x M8 x 25 bolts
14 x M8 bolts

CORNER POST
2 x Strut
2 x Brace
8 x Winders
2 x Stretcher bar
8 x M8 x 40 bolts
6 x M8 x 25 bolts
22 x M8 bolts


